Applications — Y cmraes &

A circle touches the side BC of a AABC
at P and touches AB and AC when
produced at Q and R respectively then

1
AQ = E{Perime’rer' of AABC).

AQ = AR....(i)
BQ = BP....(ii)
CP = CR....(iii)

[Tangents drawn from an external

point to a circle are equal]

Now, perimeter of AABC

=AB+BC+CA

=AB+BP+PC+CA

= (AB + BQ) + (CR + CA) [From (ii) and (iii)]
= AQ + AR = AQ + AQ [From(i)]

1
AQ =E(Perime'rer- of AABC).

Special Note :

1. If quadrilateral ABCD is circumscribing a
circle, then AB + CD = AD + BC.

2. If all the sides of a parallelogram touches
a circle, then the parallelogram is a rhombus.
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A tangent to a circle is perpendicular to
the radius through the point of contact.

i.e. OP1L AB J

...... ey

Length of two tangent drawn
from external point are equal
In AOQP & AORP

Z0QP = Z0RP (Each 807)
OP=0P, (Common
0Q=0R (radius)

- ACQP = AORP = PQ =PR

Results :

(i) If two tangents are drawn to a
circle from an external point,
then they subtend equal angles
at the centre. LPOQ = ZPOR

(i) If two tangents are drawn to a

circle from an external point,
they are equally inclined to the
segment, joining the centre to
that point ZOPQ = ZOPR
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